## coinbase

## **Transaction report for Sandeep Udumala**

You can use this transaction report to inform your likely tax obligations. For US customers, Sells, Converts, and Rewards Income, and Coinbase Earn transactions are taxable events. For final tax obligations, please consult your tax advisor.

Date range	Filter	Customer
From: 2021-01-01T00:00:00Z	Type: all	sandeepreddyudumala@gmail.com
To: 2022-01-01T00:00:00Z	Asset: all	599a4b2ce6ae4000884313ff

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-01- 13T03:50:12Z	Sell	BTC	0.00081147	USD	33531.74	\$27.21	\$25.22	Sold 0.00081147 BTC for \$25.22 USD
2021-11- 10T02:09:48Z	Receive	ETH	0.01618857	USD	4741.46			Received 0.01618857 ETH from an external account
2021-11- 10T02:20:16Z	Convert	ETH	0.01618857	USD	4741.62	\$74.71	\$76.76	Converted 0.01618857 ETH to 269.83397407 IOTX
2021-11- 11T10:33:42Z	Buy	ETH	0.20837655	USD	4728.56	\$985.32	\$1,000.00	Bought 0.20837655 ETH for \$1,000.00 USD
2021-11- 11T10:36:57Z	Send	ETH	0.20837655	USD	4709.35			Sent 0.20837655 ETH to 0x8f08443Dd1aF515fA305C845694707Db8dbE1d31
2021-11- 11T16:00:22Z	Receive	ETH	0.02825593	USD	4722.16			Received 0.02825593 ETH from an external account

Page 2/18

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-12- 06T17:00:17Z	Buy	ETH	0.02311307	USD	4197.19	\$97.01	\$100.00	Bought 0.02311307 ETH for \$100.00 USD
2021-12- 06T17:01:14Z	Send	ETH	0.01493111	USD	4172.99			Sent 0.01493111 ETH to 0xb275eaa6BB47c3eE62Bef36EA1b1A566BFa3D883
2021-12- 06T20:16:44Z	Buy	ETH	0.02301032	USD	4215.93	\$97.01	\$100.00	Bought 0.02301032 ETH for \$100.00 USD
2021-12- 06T20:17:40Z	Send	ETH	0.03119228	USD	4203.77			Sent 0.03119228 ETH to 0xb275eaa6BB47c3eE62Bef36EA1b1A566BFa3D883
2021-12- 06T21:12:12Z	Receive	ETH	0.03699	USD	4229.06			Received 0.03699 ETH from an external account
2021-12- 06T21:21:23Z	Sell	ETH	0.03699	USD	4212.22	\$155.81	\$152.82	Sold 0.03699 ETH for \$152.82 USD
2021-12- 28T04:29:25Z	Buy	ETH	0.07950568	USD	3918.21	\$311.52	\$323.95	Bought 0.07950568 ETH for \$323.95 USD
2021-12- 28T04:29:50Z	Send	ETH	0.07950568	USD	3901.71			Sent 0.07950568 ETH to 0x8f08443Dd1aF515fA305C845694707Db8dbE1d31
2021-12- 30T12:57:00Z	Buy	MANA	102.2784735	USD	3.37	\$344.86	\$350.00	Bought 102.2784735 MANA for \$350.00 USD

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-12- 31T14:59:12Z	Sell	MANA	102.2784735	USD	3.37	\$344.99	\$339.85	Sold 102.2784735 MANA for \$339.85 USD
2021-02- 15T01:27:27Z	Buy	XTZ	41.176687	USD	4.78	\$197.01	\$200.00	Bought 41.176687 XTZ for \$200.00 USD
2021-02- 15T19:01:35Z	Sell	XTZ	41.176687	USD	4.83	\$199.01	\$196.02	Sold 41.176687 XTZ for \$196.02 USD
2021-02- 17T21:23:23Z	Sell	ALGO	117.920756	USD	1.37	\$161.98	\$158.99	Sold 117.920756 ALGO for \$158.99 USD
2021-01- 26T00:27:02Z	Coinbase Earn	BAND	0.10953142	USD	9.17	\$1.00	\$1.00	Received 0.10953142 BAND from Coinbase Earn
2021-01- 26T00:27:15Z	Coinbase Earn	BAND	0.10908694	USD	9.17	\$1.00	\$1.00	Received 0.10908694 BAND from Coinbase Earn
2021-01- 26T00:27:32Z	Coinbase Earn	BAND	0.10908694	USD	9.17	\$1.00	\$1.00	Received 0.10908694 BAND from Coinbase Earn
2021-02- 08T16:16:30Z	Sell	BAND	0.3277053	USD	11.87	\$3.89	\$2.90	Sold 0.3277053 BAND for \$2.90 USD
2021-02- 12T14:53:11Z	Convert	CGLD	0.5824477	USD	4.70	\$2.69	\$2.74	Converted 0.5824477 CGLD to 1.01265153 GRT

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-02- 13T14:53:39Z	Buy	CGLD	103.72597445	USD	4.75	\$492.66	\$500.00	Bought 103.72597445 CGLD for \$500.00 USD
2021-02- 16T17:16:30Z	Sell	CGLD	103.72597445	USD	3.97	\$411.28	\$405.15	Sold 103.72597445 CGLD for \$405.15 USD
2021-10- 06T09:26:07Z	Buy	CGLD	1866.70700824	USD	5.68	\$10,596.9 2	\$10,754.81	Bought 1,866.70700824 CGLD for \$10,754.81 USD
2021-10- 08T01:07:21Z	Sell	CGLD	1866.70700824	USD	5.92	\$11,056.8 4	\$10,892.09	Sold 1,866.70700824 CGLD for \$10,892.09 USD
2021-10- 10T23:53:47Z	Buy	CGLD	1930.49384836	USD	5.68	\$10,958.7	1 \$11,121.99	Bought 1,930.49384836 CGLD for \$11,121.99 USD
2021-10- 13T01:55:34Z	Sell	CGLD	1930.49384836	USD	5.80	\$11,189.42	\$11,022.70	Sold 1,930.49384836 CGLD for \$11,022.70 USD
2021-03- 27T22:58:00Z	Coinbase Earn	UMA	0.09057151	USD	22.09	\$2.00	\$2.00	Received 0.09057151 UMA from Coinbase Earn
2021-03- 27T22:58:17Z	Coinbase Earn	UMA	0.09057151	USD	22.09	\$2.00	\$2.00	Received 0.09057151 UMA from Coinbase Earn
2021-03- 27T22:58:25Z	Coinbase Earn	UMA	0.09060023	USD	22.09	\$2.00	\$2.00	Received 0.09060023 UMA from Coinbase Earn

Page 6/18

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-03- 27T23:00:23Z	Sell	UMA	0.27174325	USD	21.97	\$5.97	\$4.98	Sold 0.27174325 UMA for \$4.98 USD
2021-11- 02T01:01:34Z	Coinbase Earn	LRC	0.50704796	USD	0.990000	\$0.50	\$0.50	Received 0.50704796 LRC from Coinbase Earn
2021-11- 02T01:02:01Z	Coinbase Earn	LRC	0.50047545	USD	1.01	\$0.51	\$0.51	Received 0.50047545 LRC from Coinbase Earn
2021-11- 02T01:02:23Z	Coinbase Earn	LRC	0.50047545	USD	1.01	\$0.51	\$0.51	Received 0.50047545 LRC from Coinbase Earn
2021-11- 02T01:03:17Z	Convert	LRC	1.50799887	USD	1.01	\$1.49	\$1.52	Converted 1.50799887 LRC to 21,015.87575714 SHIB
2021-07- 25T12:38:32Z	Coinbase Earn	BAL	0.05342719	USD	18.73	\$1.00	\$1.00	Received 0.05342719 BAL from Coinbase Earn
2021-07- 25T12:38:44Z	Coinbase Earn	BAL	0.05342639	USD	18.73	\$1.00	\$1.00	Received 0.05342639 BAL from Coinbase Earn
2021-07- 25T12:38:59Z	Coinbase Earn	BAL	0.05342639	USD	18.73	\$1.00	\$1.00	Received 0.05342639 BAL from Coinbase Earn
2021-07- 25T12:43:50Z	Convert	BAL	0.16027997	USD	18.65	\$2.36	\$2.99	Converted 0.16027997 BAL to 58.91103601 AMP

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-02- 11T02:46:18Z	Coinbase Earn	NU	1.88501414	USD	0.530000	\$1.00	\$1.00	Received 1.88501414 NU from Coinbase Earn
2021-02- 11T02:46:51Z	Coinbase Earn	NU	1.88679245	USD	0.530000	\$1.00	\$1.00	Received 1.88679245 NU from Coinbase Earn
2021-02- 11T02:47:02Z	Coinbase Earn	NU	1.88679245	USD	0.530000	\$1.00	\$1.00	Received 1.88679245 NU from Coinbase Earn
2021-02- 11T03:30:11Z	Convert	NU	5.65859904	USD	0.530000	\$2.91	\$2.98	Converted 5.65859904 NU to 0.5824477 CGLD
2021-01- 02T18:08:43Z	Convert	GRT	79.20539021	USD	0.340000	\$26.42	\$27.20	Converted 79.20539021 GRT to 0.00081147 BTC
2021-02- 12T17:19:53Z	Buy	GRT	37.41225658	USD	2.59	\$97.01	\$100.00	Bought 37.41225658 GRT for \$100.00 USD
2021-02- 12T17:22:49Z	Buy	GRT	37.3196842	USD	2.60	\$97.01	\$100.00	Bought 37.3196842 GRT for \$100.00 USD
2021-02- 17T05:30:51Z	Convert	GRT	75.74459231	USD	1.93	\$142.27	\$145.93	Converted 75.74459231 GRT to 117.920756 ALGO
2021-07- 25T12:40:24Z	Coinbase Earn	GRT	1.83789745	USD	0.540000	\$0.99	\$0.99	Received 1.83789745 GRT from Coinbase Earn

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-08- 17T11:56:31Z	Sell	GRT	1.83789745	USD	0.973900	\$1.79	\$0.80	Sold 1.83789745 GRT for \$0.80 USD
2021-03- 27T21:36:41Z	Buy	STORJ	365.8719048	USD	2.69	\$985.32	\$1,000.00	Bought 365.8719048 STORJ for \$1,000.00 USD
2021-03- 27T21:58:32Z	Sell	STORJ	365.8719048	USD	2.80	\$1,023.50	\$1,008.25	Sold 365.8719048 STORJ for \$1,008.25 USD
2021-03- 27T22:34:37Z	Buy	STORJ	292.2692739	USD	3.37	\$985.32	\$1,000.00	Bought 292.2692739 STORJ for \$1,000.00 USD
2021-03- 27T23:05:02Z	Buy	STORJ	306.48251657	USD	3.18	\$973.82	\$988.33	Bought 306.48251657 STORJ for \$988.33 USD
2021-03- 28T00:03:23Z	Sell	STORJ	598.75179047	USD	3.39	\$2,031.53	\$2,001.26	Sold 598.75179047 STORJ for \$2,001.26 USD
2021-03- 28T18:20:53Z	Buy	STORJ	1937.03684372	USD	3.04	\$5,893.97	\$5,981.79	Bought 1,937.03684372 STORJ for \$5,981.79 USD
2021-03- 30T16:41:48Z	Sell	STORJ	1937.03684372	USD	3.05	\$5,902.30	\$5,814.36	Sold 1,937.03684372 STORJ for \$5,814.36 USD
2021-05- 21T17:55:45Z	Buy	MATIC	2.0	USD	1.54	\$3.08	\$4.07	Bought 2.0000 MATIC for \$4.07 USD

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-05- 21T19:04:36Z	Buy	MATIC	500.0	USD	1.48	\$741.64	\$771.23	Bought 500.0000 MATIC for \$771.23 USD
2021-05- 21T21:08:10Z	Buy	MATIC	500.0	USD	1.32	\$659.47	\$685.78	Bought 500.0000 MATIC for \$685.78 USD
2021-05- 23T06:46:28Z	Buy	MATIC	400.0	USD	1.11	\$443.69	\$461.39	Bought 400.0000 MATIC for \$461.39 USD
2021-05- 24T04:28:50Z	Sell	MATIC	1402.0	USD	1.40	\$1,960.10	\$1,930.89	Sold 1,402.0000 MATIC for \$1,930.89 USD
2021-06- 17T20:09:16Z	Coinbase Earn	MATIC	0.67727735	USD	1.48	\$1.00	\$1.00	Received 0.67727735 MATIC from Coinbase Earn
2021-06- 17T20:09:43Z	Coinbase Earn	MATIC	0.67755268	USD	1.48	\$1.00	\$1.00	Received 0.67755268 MATIC from Coinbase Earn
2021-06- 17T20:09:56Z	Coinbase Earn	MATIC	0.67755268	USD	1.48	\$1.00	\$1.00	Received 0.67755268 MATIC from Coinbase Earn
2021-06- 18T17:07:35Z	Sell	MATIC	2.03238271	USD	1.36	\$2.77	\$1.78	Sold 2.03238271 MATIC for \$1.78 USD
2021-11- 22T21:32:56Z	Buy	MATIC	318.27616883	USD	1.55	\$492.66	\$500.00	Bought 318.27616883 MATIC for \$500.00 USD

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-11- 22T21:33:46Z	Send	MATIC	318.27616883	USD	1.54			Sent 318.27616883 MATIC to 0x8f08443Dd1aF515fA305C845694707Db8dbE1d31
2021-11- 22T22:07:14Z	Receive	MATIC	308.37776985	USD	1.56			Received 308.37776985 MATIC from an external account
2021-11- 22T22:19:37Z	Convert	MATIC	308.37776985	USD	1.56	\$470.52	\$481.18	Converted 308.37776985 MATIC to 10,853,966.82035069 SHIB
2021-05- 18T18:25:45Z	Coinbase Earn	SKL	1.90949017	USD	0.520000	\$0.99	\$0.99	Received 1.90949017 SKL from Coinbase Earn
2021-05- 18T18:26:17Z	Coinbase Earn	SKL	1.90949017	USD	0.520000	\$0.99	\$0.99	Received 1.90949017 SKL from Coinbase Earn
2021-05- 18T18:26:43Z	Coinbase Earn	SKL	1.90949017	USD	0.520000	\$0.99	\$0.99	Received 1.90949017 SKL from Coinbase Earn
2021-05- 18T18:32:26Z	Convert	SKL	5.72847051	USD	0.530000	\$2.96	\$3.02	Converted 5.72847051 SKL to 1.442414 ADA
2021-05- 19T16:43:30Z	Sell	ADA	2.870801	USD	1.79	\$5.15	\$4.16	Sold 2.870801 ADA for \$4.16 USD
2021-12- 01T02:25:00Z	Coinbase Earn	ANKR	6.66688889	USD	0.150000	\$1.00	\$1.00	Received 6.66688889 ANKR from Coinbase Earn

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-12- 01T02:25:25Z	Coinbase Earn	ANKR	6.66577789	USD	0.150000	\$1.00	\$1.00	Received 6.66577789 ANKR from Coinbase Earn
2021-12- 01T02:25:43Z	Coinbase Earn	ANKR	6.66577789	USD	0.150000	\$1.00	\$1.00	Received 6.66577789 ANKR from Coinbase Earn
2021-12- 01T02:25:54Z	Coinbase Earn	ANKR	6.66377902	USD	0.150000	\$1.00	\$1.00	Received 6.66377902 ANKR from Coinbase Earn
2021-12- 01T02:27:59Z	Convert	ANKR	26.66222371	USD	0.150000	\$3.91	\$4.00	Converted 26.66222371 ANKR to 82,714.21639495 SHIB
2021-03- 27T21:38:37Z	Buy	CRV	330.24141467	USD	2.98	\$985.32	\$1,000.00	Bought 330.24141467 CRV for \$1,000.00 USD
2021-03- 27T23:02:07Z	Sell	CRV	330.24141467	USD	2.97	\$981.93	\$967.30	Sold 330.24141467 CRV for \$967.30 USD
2021-11- 23T18:13:07Z	Buy	USDT	490.061936	USD	1.01	\$492.66	\$500.00	Bought 490.061936 USDT for \$500.00 USD
2021-11- 23T18:16:21Z	Send	USDT	490.061936	USD	1.00			Sent 490.061936 USDT to 0x83E690F4C1CB850760175e8E3416e23EcA0C9966
2021-11- 25T23:28:54Z	Send	USDT	1958.50698	USD	1.00			Sent 1,958.50698 USDT to 0x83E690F4C1CB850760175e8E3416e23EcA0C9966

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-05- 18T18:27:33Z	Coinbase Earn	FORTH	0.03371658	USD	29.65	\$1.00	\$1.00	Received 0.03371658 FORTH from Coinbase Earn
2021-05- 18T18:27:55Z	Coinbase Earn	FORTH	0.03371658	USD	29.65	\$1.00	\$1.00	Received 0.03371658 FORTH from Coinbase Earn
2021-05- 18T18:28:09Z	Coinbase Earn	FORTH	0.03371658	USD	29.65	\$1.00	\$1.00	Received 0.03371658 FORTH from Coinbase Earn
2021-05- 18T18:31:04Z	Convert	FORTH	0.10114974	USD	29.56	\$2.91	\$2.99	Converted 0.10114974 FORTH to 1.428387 ADA
2021-11- 16T04:43:18Z	Buy	DOT	11.6056003983	USD	42.45	\$492.66	\$500.00	Bought 11.6056004 DOT for \$500.00 USD
2021-11- 16T21:13:52Z	Buy	DOT	23.7901994721	USD	41.42	\$985.32	\$1,000.00	Bought 23.79019947 DOT for \$1,000.00 USD
2021-11- 18T04:04:10Z	Convert	DOT	17.6874277763	USD	42.40	\$733.67	\$750.00	Converted 17.68742778 DOT to 15.00188777 ENS
2021-11- 22T20:03:30Z	Convert	DOT	17.7083720941	USD	39.17	\$681.13	\$693.57	Converted 17.70837209 DOT to 15,676,237.58976216 SHIB
2021-11- 16T21:14:21Z	Buy	SOL	4.398955428	USD	223.99	\$985.32	\$1,000.00	Bought 4.39895543 SOL for \$1,000.00 USD

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-11- 21T20:37:22Z	Sell	SOL	4.398955428	USD	232.25	\$1,021.65	\$1,006.43	Sold 4.39895543 SOL for \$1,006.43 USD
2021-06- 12T14:30:28Z	Coinbase Earn	АМР	15.69858713	USD	0.060000	\$0.94	\$0.94	Received 15.69858713 AMP from Coinbase Earn
2021-06- 12T14:30:54Z	Coinbase Earn	АМР	15.69858713	USD	0.060000	\$0.94	\$0.94	Received 15.69858713 AMP from Coinbase Earn
2021-06- 12T14:31:16Z	Coinbase Earn	АМР	15.69858713	USD	0.060000	\$0.94	\$0.94	Received 15.69858713 AMP from Coinbase Earn
2021-08- 17T11:55:43Z	Sell	AMP	233.43158175	USD	0.060000	\$14.01	\$12.52	Sold 233.43158175 AMP for \$12.52 USD
2021-09- 16T18:04:49Z	Buy	SHIB	102126865.6716 42	USD	0.000010	\$985.32	\$1,000.00	Bought 102,126,865.671642 SHIB for \$1,000.00 USD
2021-09- 20T02:27:08Z	Buy	SHIB	123790140.208 051	USD	0.000008	\$985.32	\$1,000.00	Bought 123,790,140.208051 SHIB for \$1,000.00 USD
2021-10- 14T19:48:29Z	Buy	SHIB	36355207.2848 2318	USD	0.000028	\$1,007.69	\$1,022.70	Bought 36,355,207.28482318 SHIB for \$1,022.70 USD
2021-10- 28T12:43:05Z	Buy	SHIB	24966078.6974 2199	USD	0.000079	\$1,970.64	\$2,000.00	Bought 24,966,078.69742199 SHIB for \$2,000.00 USD

+1 888 908-7930

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-10- 30T22:10:09Z	Buy	SHIB	85580062.9318 9493	USD	0.000066	\$5,616.32	\$5,700.00	Bought 85,580,062.93189493 SHIB for \$5,700.00 USD
2021-11- 04T13:16:32Z	Buy	SHIB	18639123.77277 <sup>-</sup> 14	1 USD	0.000053	\$985.32	\$1,000.00	Bought 18,639,123.77277114 SHIB for \$1,000.00 USD
2021-11- 04T15:19:05Z	Buy	SHIB	11166491.00737 771	USD	0.000044	\$492.66	\$500.00	Bought 11,166,491.00737771 SHIB for \$500.00 USD
2021-11- 07T18:38:23Z	Buy	SHIB	8615271.620806 34	S USD	0.000057	\$492.66	\$500.00	Bought 8,615,271.62080634 SHIB for \$500.00 USD
2021-11- 22T22:00:18Z	Convert	SHIB	6920415.224913 5	3 USD	0.00	\$293.80	\$300.00	Converted 6,920,415.2249135 SHIB to 0.0719867 ETH
2021-11- 25T23:03:39Z	Convert	SHIB	46457607.4332 1718	USD	0.00	\$1,957.05	\$2,000.00	Converted 46,457,607.43321718 SHIB to 2,454.44066945 CRO
2021-11- 25T23:26:54Z	Convert	SHIB	46457607.4332 1718	USD	0.00	\$1,959.98	\$2,000.00	Converted 46,457,607.43321718 SHIB to 1,958.50698 USDT
2021-12- 06T21:22:28Z	Buy	SHIB	4176038.57463 383	USD	0.000036	\$149.83	\$152.82	Bought 4,176,038.57463383 SHIB for \$152.82 USD
2021-12- 11T22:07:38Z	Convert	SHIB	58565153.73352 855	2 USD	0.00	\$1,957.14	\$2,000.00	Converted 58,565,153.73352855 SHIB to 12,053.96713873 COVAL

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-09- 16T19:48:55Z	Coinbase Earn	CHZ	2.94985251	USD	0.340000	\$1.00	\$1.00	Received 2.94985251 CHZ from Coinbase Earn
2021-09- 16T19:49:14Z	Coinbase Earn	CHZ	2.95072293	USD	0.340000	\$1.00	\$1.00	Received 2.95072293 CHZ from Coinbase Earn
2021-09- 16T19:49:33Z	Coinbase Earn	CHZ	2.95072293	USD	0.340000	\$1.00	\$1.00	Received 2.95072293 CHZ from Coinbase Earn
2021-09- 16T20:07:57Z	Convert	CHZ	8.85129837	USD	1.00	8.849303 01	8.85129837	Converted 8.85129837 CHZ to 351,162.81780239 SHIB
2021-09- 29T01:04:07Z	Buy	KEEP	14199.67064821	USD	0.347000	\$4,926.59	\$5,000.00	Bought 14,199.67064821 KEEP for \$5,000.00 USD
2021-10- 01T12:21:41Z	Sell	KEEP	14199.67064821	USD	0.390200	\$5,541.10	\$5,458.54	Sold 14,199.67064821 KEEP for \$5,458.54 USD
2021-11- 14T04:05:48Z	Convert	KEEP	195.07711881	USD	1.01	\$192.97	\$196.73	Converted 195.07711881 KEEP to 0.04161279 ETH
2021-07- 25T12:40:49Z	Coinbase Earn	BOND	0.04551662	USD	21.92	\$1.00	\$1.00	Received 0.04551662 BOND from Coinbase Earn
2021-07- 25T12:41:28Z	Coinbase Earn	BOND	0.04568297	USD	21.92	\$1.00	\$1.00	Received 0.04568297 BOND from Coinbase Earn

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-07- 25T12:41:55Z	Coinbase Earn	BOND	0.04568297	USD	21.92	\$1.00	\$1.00	Received 0.04568297 BOND from Coinbase Earn
2021-07- 25T12:45:52Z	Convert	BOND	0.13688256	USD	21.92	\$2.36	\$3.00	Converted 0.13688256 BOND to 58.91382646 AMP
2021-07- 25T12:39:28Z	Coinbase Earn	CLV	0.86956522	USD	1.14	\$0.99	\$0.99	Received 0.86956522 CLV from Coinbase Earn
2021-07- 25T12:39:49Z	Coinbase Earn	CLV	0.86956522	USD	1.14	\$0.99	\$0.99	Received 0.86956522 CLV from Coinbase Earn
2021-07- 25T12:40:02Z	Coinbase Earn	CLV	0.86956522	USD	1.14	\$0.99	\$0.99	Received 0.86956522 CLV from Coinbase Earn
2021-07- 25T12:44:43Z	Convert	CLV	2.60869566	USD	1.14	\$2.34	\$2.97	Converted 2.60869566 CLV to 58.51095789 AMP
2021-09- 16T19:50:01Z	Coinbase Earn	FET	1.0989011	USD	0.910000	\$1.00	\$1.00	Received 1.0989011 FET from Coinbase Earn
2021-09- 16T19:50:24Z	Coinbase Earn	FET	1.0989011	USD	0.910000	\$1.00	\$1.00	Received 1.0989011 FET from Coinbase Earn
2021-09- 16T19:50:52Z	Coinbase Earn	FET	1.10023105	USD	0.910000	\$1.00	\$1.00	Received 1.10023105 FET from Coinbase Earn

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-09- 16T20:07:03Z	Convert	FET	3.29803325	USD	1.00	3.296328 88	3.29803325	Converted 3.29803325 FET to 350,300.6244407 SHIB
2021-11- 10T03:42:15Z	Convert	IOTX	269.83397407	USD	0.310000	\$81.24	\$82.81	Converted 269.83397407 IOTX to 1,497,567.35076332 SHIB
2021-09- 29T05:06:53Z	Buy	DDX	777.12945541	USD	6.34	\$4,926.59	\$5,000.00	Bought 777.12945541 DDX for \$5,000.00 USD
2021-10- 01T21:55:48Z	Sell	DDX	777.12945541	USD	6.92	\$5,376.38	\$5,296.27	Sold 777.12945541 DDX for \$5,296.27 USD
2021-10- 09T01:07:16Z	Buy	DDX	1819.79119707	USD	5.90	\$10,732.18	3 \$10,892.09	Bought 1,819.79119707 DDX for \$10,892.09 USD
2021-10- 09T19:53:00Z	Sell	DDX	1819.79119707	USD	6.20	\$11,290.21	\$11,121.99	Sold 1,819.79119707 DDX for \$11,121.99 USD
2021-10- 25T21:02:33Z	Coinbase Earn	AUCTIO N	0.02334812	USD	43.06	\$1.01	\$1.01	Received 0.02334812 AUCTION from Coinbase Earn
2021-10- 25T21:02:51Z	Coinbase Earn	AUCTIO N	0.0232396	USD	43.06	\$1.00	\$1.00	Received 0.0232396 AUCTION from Coinbase Earn
2021-10- 25T21:03:19Z	Coinbase Earn	AUCTIO N	0.0232396	USD	43.06	\$1.00	\$1.00	Received 0.0232396 AUCTION from Coinbase Earn

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-10- 26T04:17:51Z	Convert	AUCTIO N	0.06982732	USD	41.67	\$2.84	\$2.91	Converted 0.06982732 AUCTION to 68,474.60919557 SHIB
2021-12- 04T05:28:07Z	Convert	CRO	2454.44066945	USD	0.510000	\$1,257.17	\$1,252.38	Converted 2,454.44066945 CRO to 38,563,484.62559706 SHIB
2021-12- 04T05:34:57Z	Convert	CRO	2454.44066945	USD	0.510000	\$1,232.54	\$1,257.66	Converted 2,454.44066945 CRO to 36,304,671.26756275 SHIB
2021-12- 11T22:37:04Z	Convert	COVAL	12053.96713873	USD	0.170000	\$2,024.11	\$2,071.47	Converted 12,053.96713873 COVAL to 59,445,163.7799001 SHIB
2021-11- 22T20:06:54Z	Convert	ENS	15.00188777	USD	41.38	\$606.73	\$620.85	Converted 15.00188777 ENS to 14,060,865.21652598 SHIB